

Description		Qtty	Price		Total
TBD Furniture					
	Sofas - Beverly Hills - Off White W/ Silver Legs	4	\$350.00	Т	\$1,400.00
	Sofas - Beverly Hills - Taupe W/ Silver Legs	4	\$350.00	Т	\$1,400.00
- MILLING	Sofas - Buenos Aires - 4pc Sectional Grey	4	\$650.00	Т	\$2,600.00
	Sofas - Montreal - Grey W/ Off White Frame	4	\$400.00	Т	\$1,600.00
	Sofas - Moscow - Off White	6	\$400.00	Т	\$2,400.00
	Sofas - Pasadena - Ivory Velvet	4	\$450.00	Т	\$1,800.00
	Sofas - Segovia - White W/ Brass Base	3	\$400.00	Т	\$1,200.00
	Sofas - Siena - Off White W/ Wood Base 6'	4	\$350.00	Т	\$1,400.00
	Sofas - Siena - Off White W/ Wood Base 8'	3	\$400.00	Т	\$1,200.00
T	Club & Lounge Chairs - Cape Cod - Club Chair W/ Wood Panels	8	\$260.00	Т	\$2,080.00
	Club & Lounge Chairs - Moscow - Accent Chair Channeled Off White	6	\$260.00	Т	\$1,560.00
	Club & Lounge Chairs - Segovia - Side Chair White	6	\$160.00	Т	\$960.00

Description		Qtty	Price		Total
	Club & Lounge Chairs - Toulouse - Accent Chair	2	\$180.00	Т	\$360.00
(H	Club And Lounge Chairs - Pasadena - Ivory Velvet	8	\$260.00	Т	\$2,080.00
AT	Tokyo Accent Chair - Gold Frame White or black velvet cushions	15	\$85.00	Т	\$1,275.00
A	Tokyo Accent Chair - Gold Frame White or black velvet cushions	1	\$85.00	Т	\$85.00
	Hollywood Sofa 8'L - Taupe Velvet	1	\$450.00	т	\$450.00
6	Beverly Hills Club Chair - Taupe w, Gold Legs	4	\$200.00	Т	\$800.00
	Hollywood Club Chair - Taupe w. Gold Frame	4	\$225.00	Т	\$900.00
	Hollywood Ottoman - Taupe w. Brass Base	2	\$65.00	Т	\$130.00
			Total TBD Furnit	ure	\$25,680.00
General			Total General		\$0.00
Cocktails					
	Boston Round Bar - HALF ONLY TBD Color paired with (2) straight bar sections to create a U shaped bar	1	\$1,450.00	Т	\$1,450.00
	London Bar 6'L - TBD Color paired with curved boston bar pieces to create one large U shape bar	2	\$850.00	Т	\$1,700.00
	Straight Barback 6'L - TBD Color	1	\$250.00	Т	\$250.00
H	Madrid Coffee Tables (3pcs) - Gold and Marble	4	\$225.00	Т	\$900.00

Description		Qtty	Price		Total
	Ottoman Pod 18"D	8	\$50.00	Т	\$400.00
	Accent Pillows - Assorted	24	\$30.00	Т	\$720.00
	Custom Escort Wall 16'L x 10'h **Requires trussing arch as interior support** Design similar to inspirational image with molding at base of panels Client to provide frames for escort wall	2	\$3,000.00	Т	\$6,000.00
	Madrid Sconce - Gold for the escort wall (4) per 16'L side	8	\$85.00	Т	\$680.00
			Total Cockt	ails	\$12,100.00
Reception					
	Wood Arch - TBD Color **requires trussing arch as support** 14'W x TBD Height	2	\$3,200.00	Т	\$6,400.00
	Round Booth - Channeled Champagne Velvet (2pc) paired with 66"D Theoni round tables	12	\$600.00	Т	\$7,200.00
	Pasadena Straight Banquette - Ivory 6'L paired with 72" x 72" dining tables	8	\$350.00	Т	\$2,800.00
	London Bar 8' - Framed Mirror TBD Color	4	\$950.00	Т	\$3,800.00
	Moscow Barback - Gold	8	\$175.00	Т	\$1,400.00
	Stage Drape 32'L x 12'H - TBD Color Instock Material **requires truss arch support**	1	\$850.00	Т	\$850.00
	Nice Wall Mirror 03 30"W x 70"H with custom hand painted details	6	\$350.00	Т	\$2,100.00
	Custom Stage Front 8'L x 24"H details TBD until final design is determined	4	\$650.00	Т	\$2,600.00
			Total Recept	tion	\$27,150.00
After Party - Hal	lway				
	Perimeter Drape - TBD Color Instock Material with added fringe detail on pullback entrances only	1	\$8,500.00	Т	\$8,500.00
	Perimeter Valance - TBD Color	1	\$1,850.00	Т	\$1,850.00
		Total A	l After Party - Hallway		\$10,350.00

Description		Qtty	Price		Total
After Party - Ba	llroom				
	Perimeter Drape & Pullbacks - TBD Color instock material and additional pulbacks to frame the candle walls	1	\$12,500.00	Т	\$12,500.00
	Perimeter Valance - TBD Color	1	\$2,000.00	Т	\$2,000.00
	Las Vegas Bar - Multi Mirror Gold	2	\$750.00	Т	\$1,500.00
P = 1	Beirut Curvy Sofa - Black Boucle	4	\$500.00	Т	\$2,000.00
DIK	Monaco Coffee Table - Irregular Brass	4	\$275.00	Т	\$1,100.00
	Rome Round Club Chair Channeled - Black Boucle	4	\$250.00	Т	\$1,000.00
	Rome Round Ottoman Channeled - Black Boucle	4	\$150.00	Т	\$600.00
	Hollywood Ottoman - White w. Brass Base	8	\$65.00	Т	\$520.00
	Frankfurt Sofa - Black w. Brass Frame	4	\$450.00	Т	\$1,800.00
	Coffee Tables - Curvy Mirror & Gold	4	\$250.00	Т	\$1,000.00
	Hollywood Ottoman - Black w. Brass Base	8	\$65.00	Т	\$520.00
5786	Berlin Serpentine Sofa (3pcs) - White Velvet	2	\$1,250.00	Т	\$2,500.00
	London Accent Table Large - Gold Hourglass	2	\$100.00	Т	\$200.00
	London Accent Table Small - Gold Hourglass	4	\$85.00	Т	\$340.00

Description		Qtty	Price		Total
	Ottoman Pod 18"D - Taupe Velvet	12	\$50.00	Т	\$600.00
	Boston Round Booths (4pcs) Taupe Velvet	6	\$650.00	Т	\$3,900.00
	Hollywood Coffee Table - Zig Zag Gold Base ROUND 48"D glass top	6	\$250.00	Т	\$1,500.00
	Beirut Ottoman - Black Boucle	18	\$85.00	Т	\$1,530.00
•	Accent Pillows - Assorted Mix of taupe, white, black and touches of gold	85	\$30.00	Т	\$2,550.00
		Total Af	ter Party - Ballro	om	\$37,660.00
After Party - Ou	ter Patio				
	Frankfurt Coffee Table - Gold Frame	1	\$250.00	Т	\$250.00
		Total After	r Party - Outer Pa	atio	\$250.00
Services					
	Installers: Install Ballroom Friday	10	\$550.00		\$5,500.00
	Installers: Install Lawn Areas Saturday	10	\$550.00		\$5,500.00
	Additional Crew: Strike Main Lawn Areas Saturday Evening	8	\$650.00		\$5,200.00
	Installers: Strike Main Ballroom Sunday AM	10	\$550.00		\$5,500.00
	Trucking: 24'L	6	\$500.00	Т	\$3,000.00
	Trucking: Fuel Surcharge	6	\$65.00	Т	\$390.00
	Accommodations: Hotel Rooms (2) Nights price approx until confirmed	5	\$800.00		\$4,000.00
	Accommodations: Perdiem (3) Days	10	\$216.00		\$2,160.00
	Manager: Onsite for (2) Days	1	\$1,500.00		\$1,500.00
	Manager: Hotel Room for (2) Nights	1	\$1,400.00		\$1,400.00
	Manager: Per diem	1	\$216.00		\$216.00
	Certificates: Flame Proofing	1	\$850.00		\$850.00
	Custom Artwork: Hand Painting for the stage decor for reception	1	\$1,500.00		\$1,500.00

Please make checks payable to Revelry, Inc.	Total Products:	\$113,190.00
Note: Drive to delivering and nick upp all invained must be pay in full	Total Labor/Services/Misc:	\$37,466.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	Taxes :	\$11,075.10
,	Discounts:	(\$0.00)
Notes	Total:	\$161,731.10
	Payments:	(\$1,500.00)

\$160,231.10

Balance: